	CUSTOM	INTERIORS FOR BUSIN 409 N. River Street Batavia, Illinois, 60510 630.761.1070 Main www.interiorsforbusin NSULTANT Carol Kase x57 R SERVICE Kris Kolek x22 DESIGNER Clare Honeym MANAGER Brooklyn Glav	ness.com 7 nan x39 P R	DATE TERMS OJECT	City of Aurora 44 E Downer Place Aurora, IL 60506 7/3/2025 50% Deposit / Net 30 Firestation #9 Furniture		QUOTE
		SERVICES Tanja Davis x5	6				
SEQ	# QTY	DESCRIPTION				AMOUNT	EXTENDED
		Steelcase Sourcewell Con #091423-STI Maturity Date: 12/4/2027 National/Kimball Omnia (#R240108 Term: 12/17/2024-12/31, Aurora Storage - GSA Con #33721	Zontract /2027				
BN-	1 1	Lobby 100 Landscape Forms - Austir End Arms and Center Arm 72"L Oak & Mercury Meta Freestanding/Surface Mo Indoor Use Only	n allic			4,403.20	4,403.20
CH-1	A 4	Police/EMT Office 102 Steelcase Amia Chair with Airback: Near Black Plastic: Platinum Solid Upholstery: DesignTex Si Fully Adjustable Arms Hard Casters for Carpet	a Air Backrest and Arms licone Element, Color: Rolling S	Stone		681.77	2,727.08
AC-	1 2	Officers/BC's Bunk 105 Steelcase Powerstrip Intro 2 Power, 1 USBA, 1USBC Finish: Merle C-Clamp 9' Standard Cord NEMA 5-15 3 Prong)			171.69	343.38
CH-1	A 2	Steelcase Amia Chair with Airback: Near Black Plastic: Platinum Solid Upholstery: DesignTex Si Fully Adjustable Arms Hard Casters for Carpet	Air Backrest and Arms licone Element, Color: Rolling S	Stone		681.77	1,363.54
D-1	2	Steelcase Box/Box/File Fix 28 5/8D x 15W x 27H Finish: Platinum Metallic Full Drawer with Rails Lock	ed Pedestal			503.10	1,006.20
D-1	2	Steelcase File/File Fixed P 28 5/8D x 15W x 27H Finish: Platinum Metallic Full Drawer with Rails Lock	edestal			491.40	982.80

CU	ACE CON JSTOMER DJECT M CLIENT S	409 N Batavi 630.70 www.i NSULTANT SERVICE DESIGNER NANAGER SERVICES	ORS FOR BUSINESS, INC. I. River Street ia, Illinois, 60510 61.1070 Main nteriorsforbusiness.com Carol Kase x57 Kris Kolek x22 Clare Honeyman x39 Brooklyn Glavach x20 Tanja Davis x56	CUSTOMER DATE TERMS PROJECT	City of Aurora 44 E Downer Place Aurora, IL 60506 7/3/2025 50% Deposit / Net 30 Firestation #9 Furniture		QUOTE
SEQ #	QTY	DESCRIPT	ION			AMOUNT	EXTENDED
D-1	2		Worksurface 30D x 72W Woodgrain HPL, Storm Noce nmet			287.43	574.86
D-1	1	Steelcase	Grommet Package of 10			35.26	35.26
AC-1	6		Powerstrip Intro USBA, 1USBC 20W erle d Cord			171.69	1,030.14
CH-2	6	Frame Fini Seat Finish	Move Chair, Plastic Seat/Back, N ish: Platinum Metallic n: Sterling Dark Solid es for Carpet	Io Arms		164.50	987.00
TB-2	1	Adjustable Laminate:	Kimball Mariben, Pull-Up Table F Height	Rectangular		755.55	755.55
CR-1	1	Steelcase/ Woodgrain Frame Fini	ntation: Outward	denza		2,380.17	2,380.17
TB-3	3	-	Coalesse Trees Table Wood/Bevel			1,950.24	5,850.72
SHLV-1	4	Aurora Sto Finish: Mo 42W x 24E (10) Shelve With Wall	D x 121.25H es Ties			946.21	3,784.84
CH-1B	3	Airback: N Plastic: Pla Upholstery Fully Adjus	Amia Chair with Air Backrest and			697.57	2,092.71

if		409 N Batavi 630.76 www.ii	ORS FOR BUSINESS, INC. . River Street a, Illinois, 60510 51.1070 Main nteriorsforbusiness.com	CUSTOME	44 E Downer Place Aurora, IL 60506		QUOTE
	LACE CON		Carol Kase x57 Kris Kolek x22	DA1 TERM		20	
		DESIGNER	Clare Honeyman x39	PROJEC	1 1		
P	ROJECT		Brooklyn Glavach x20				
		SERVICES	Tanja Davis x56				
SEQ #		DESCRIPTI	-			AMOUNT	EXTENDED
CH-3	2	National/K Mobile Arr Frame, Bao DesignTex	imball Chaddy Guest Mesh B		ered Seat	607.05	1,214.10
FF-1	4	22 5/8D x Finish: Pla	File/File Fixed Pedestal 15W x 27H tinum Metallic r with Rails			411.45	1,645.80
LF-2	1	3 Drawers 18D x 36W Finish: Pla	tinum Metallic Top: Merle HPL			1,084.47	1,084.47
SC-1	1	Finish: Mo	ily 129 ick-Lok Storage Cabinet 42W pondust #15 ible Shelves	' x 24D x 100H - Lockir	ng	1,780.61	1,780.61
SH-2	4	Aurora Qu		121.25H		835.60	3,342.40
SC-1	1	Finish: Mo	ick-Lok Storage Cabinet 42W oondust #15 ıble Shelves	x 24D x 100H - Lockir	ng	1,780.61	1,780.61
Labor	1	Standard E	Wage Labor to Receive, Deliv Business Hours Monday throu e done in one phase.		urniture During	8,656.92	8,656.92
Freight	: 1	Freight for	Landscape Forms			568.00	568.00
Tariff	1 1	National/K	Fariff Surcharge Eimball Tariff Surcharge L eadtimes: 6-10 Weeks from Fa	ctory Receipt of Order . S	ubject to Change .	781.41 158.80	781.41 158.80
		Pricing Val TARIFF STA The quoted	id Until 8/8/2025	and regulations. If these ch	ange and		

increase costs, IFB reserves the right to adjust prices accordingly. Any such price adjustments will be communicated and supported by relevant documentation.

QUOTE

EXTENDED 39,165.44

409 Bata 630.	RIORS FOR BUSINESS, INC. N. River Street via, Illinois, 60510 761.1070 Main .interiorsforbusiness.com	CUSTOMER	City of Aurora 44 E Downer Place Aurora, IL 60506	
WORKPLACE CONSULTANT	Carol Kase x57	DATE	7/3/2025	
CUSTOMER SERVICE	Kris Kolek x22	TERMS	50% Deposit / Net 30	
DESIGNER	Clare Honeyman x39	PROJECT	Firestation #9 Furniture	
PROJECT MANAGER	Brooklyn Glavach x20			
CLIENT SERVICES	Tanja Davis x56			
SEQ # QTY DESCRIP	TION		A	MOUNT
Mate To accept this order please sign and return.				
To accept this of del please sign			Sales Tax	(8.00%

	Sales 10x 0.00%	-
<u>X</u>	Freight	568.00
Print Name:	Labor	8,656.92
PO Number:	Design	-
Storage fees are included for the first 30 days from receipt of product	Surcharge	940.21
Product stored longer than 30 days will result in storage fees	TOTAL \$	49,330.57
Deposit required at time of order - Leasing options available - This quote is valid for 30 days		